Flun B0G2 quaretwiss. Arcl Asyr: Beasn ON, Laser OFF Flun B0E2 quarnetwise, ISba1 Asym: Baam ON, Lasar DFF
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Flun B0G2 quanetwise, DSbal Asym: Baam O, Lasar DFF
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Flun GOAD euanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun G042 quanetwise. Tap Fnger Ayri: Baarm OM, Latar OFF
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Tl PR et 8 T Poym Beem R e O e Acc0 Asym (ppt): -1053690.19 +/- 785638.00
USbg1 Asym (ppt): -5.80 +/- 6.17

USbg2 Asym (ppt): 5.76 +/- 4.41

DSbg1 Asym (ppt): 1.83 +/- 1.88

W M DSbg2 Asym (ppt): 2.55 +/- 1.69
SRR A o A Top Finger Asym (ppt): 3.39 +/- 8.43

P Side Finger Asym (ppt): -4.17 +/- 5.78
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Run 5082, quartetwiza: USbg1 vs time
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Run 5092, quartetwise: DSbg1 vs time
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Run 5092, quartetwise: vertFing vs time
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Run 5082, quartetwize: ISbg2 vs time
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Run 5092, quartetwise: horizFing vs fima
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